DM 2
Prénom : Valentin
Numeéro d'étudiant : ZY1824159/14241118

Schema d'Eulec explicite
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Initialisation :
B — T0=3;
8 — wi=2 * p1;
T — wlc=wl * wi(;
8 — ql=1;
9 — dg0=0;
10 — dt1=0.01;
11 — t1=(0:dt1: 10" ;
12 — npl=sizeitl.1):
13 — gql=zeros(npl.1);
14 — dql=zerosinpl, 1) ;
15 — energel=zeros(npl, 1) ;
16 — qli{1)=q0;
17 — dql(1)=dq0l;
18 — ddgl (1)=—wlc * gl(1);
Calcul et figure :
for i = 2:npl
al()=ql(i-1) + dtl * dql(i-1); 19 - A= 1 dtl-wle*dtl 1]
dql(i)=dgl (i-1) + dtl * ddql(i-1); e -
ddal (i) = —w0c * ql(i): 20 - a= talidell:
end 21
energel=0.5 * (dql.*dgl + wOc*(ql. 2)): 22 — for i = 2:npl
23 - q =4 ¥ g;
_ . 24 — ql (i) = q(1):
% plot(te, qe, te, dae. te, ddge) o5 _ dql(i) _ q(2:l;
% plot(qe, dqe. qe, ddge)
% plot(qe, dq) == end .
plot (t1, ql.tl,energel) 27 — energel=0.5 * (dgl.*dql + wlc*(gl. 21):
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Méthode 1 Méthode 2



Résultat : plot(tl, gl) plot(tl,energel)
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Si on change le pas du temps a dt = 0.05 :
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